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EXERCISE
OBJECTIVE TYPE
Q.1 Which of the number shown below is meaningless ?
(A) Vil (B) XX (C) xvI (D) VXXX
Q.2 Find the difference in the place value of the digit 5 in the number 57568.
(A) 49500 (B) 45900 (C) 49000 (D) 49050
Q.3 What is the difference of 1 million and 900 tens?
(A) 100900 (B)991000 (C)91000
Q.4 How muchis 50 less than by 1 million ?
(A) 9950 (B) 99950 (C) 999950
Q.5  Which of the following numbers when rounded off to the nearest ten thou
(A) 492811 (B) 495213 (C) 589200
Q.6 Which one of the following is the best estimation of 5663 x 22347?
(A) 5000 x 2000 (B) 5700 x 2200 (C) 5660 x
Q.7 Using the digits 1, 4, 6 and 8 each only once, ho s can be formed?

(A) 4 (B)5
Q.8 In the product of 37 and 23, what is the p
(A) 500 (B) 700
Q.9 How many numbers of 3-digit are f
(A)5 (B)6 (D)4
Q.10 ou recognise me?
(A) 9910 (D) 1119
Q.11
(A) 15673 (D) 15623
Q.12 The largest number us is :
(A) 9875 (C) 8759 (D) 7589
Q.13
(C) 49,990 (D) 49,000
Q.14
(C) 2059 (D) 5209
Q.15
)1 (D)8
Q.16 The place 7690453 is :
(A) 900 (B) 9000 (C) 90000 (D) 90
Q.17 789500 comes just after :
(A) 789400 (B) 789501 (C) 789499 (D) 789498
Q.18 1 quintal =......... kg
(A) 10 (B) 100 (C) 1000 (D) 100000
Q.19 The successor of the greatest 4-digit number is
(A) 9999 (B) 9998 (C) 9909 (D) 10000
Q.20 LXV can be written in Hindu Arabic numaral as :
(A) 55 (B) 60 (C) 65 (D) 70
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SUBJECTIVE TYPE
Write the Predecessor of 70007
Which is greater 72389 and 723917
Arrange the following in ascending order:
2345, 2543, 3452, 4325, 2435
Write the following numbers as numerals.
(a) Sixty two lakh forty five thousand six hundred thirty five
(b) Nine crore fifty eight lakh sixty one thousand eighty nine
Write the following numbers in expanded notation.
(a) 2,84,231 (b)52,11,568 (c) 6,04,18,517 (d) 8;
According to the 1991 census, the humber of people who spoke the followi es were :
Assamese : 13079696
Hindi : 337272114
Konkani : 1760607

(b) Write the above numbers in words according to the Indian syste
(c) Write the above numbers in words according to the International
erte the greatest and the smallest 5 digits numbers by using 0, 9 only once?

Give the approximate value by estimating.
(a) 3228 + 572 (b) 8010 - 2507
Write the equivalent Roman numeral of

(a) 46 (b) 90

Write the equilvalent Hindu Arabic n

(a) XXl (b) CCX (d) LXHI

12 drums of milk have 84 litres of milk i y of one drum in millilitres.

The number of candidates appeari ination conducted by CBSE was 14, 58,
937 in year 2002; 16, 93, 487 iny in year 2004 and 40, 05, 093 in year 2005.
Find the total numbe he examination in these four years.

The number of scote
many were still left?
A milk depot sells 65Zdi i ow much milk will it sell in 1 year?

ren are there in the school?
s (without repeating the digits), by using the digits.

C etition and make the smallest and the greatest four digit numbers.
i) 7,8,09 (iii) 4,6, 3,5 (iv) 8, 3,2, 4

(i)e, 3,2 ,0,6 (iii) 7, 9, 4 (iv)2,5,0
Make the grea and the smallest 4-digit numbers using any four different digits, with the condition
given below:

(i) Digit 6 is always in thousands place

(ii) Digit 4 is always in hundreds place

(iii) Digit 7 is always in tens place

(iv) Digit 1 is always in ones place

(v) Digit 9 is always in thousands place

(vi) Digit 0 is always in hundreds place

(vii) Digit 5 is always in tens place

(viii) Digit 3 is always in ones place
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